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m LlLZCSB + RI_le2 +(L,+L,)s+R S —
Imz(s) = 3 ]2- Vs(s) ®
LLCs”+RLCs” +(L,+L,)s+R | | N
A, (s) :VO(S) _ RI.,(S) _ 1 Y(s)= (S) _ m(s) - S +2 S+
Vg(s) Vi(s) s®+2s%+2s+1 Vs(s) Vi(s) s’ +2s°+2s+1
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B w¥%, R=05Q, L=1H, C=1F, a=
0.25. 1. @ X ¥ FG(s) = I,(s)/Vg(s), K FG(S) LA
R Az v gt). 2. Kvg(t) = 3ete(t) ViTayh

)SA (t) o ave
Rt 8) -~ l8) =Vs(6) |
1 lo
9 —§|m1(5) + (E +SL)I,(s) =—aV,(s) -
(3
1 s( X
Vo(8) = —=I1.(8) = 1,.(8)]
\ sC
o) =1 (8) = 1.2/1(;).75 ¢
G b® 15 15 15 e
V() $°+251075 s+05 s+15 9M=15E€"7T-e)S (t=0)
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3
V.(S)=——V
5(8) s+1
gy L) 15 3 __9 . 9 18
° s?+25s+0.75 s’°+2s+0.75s+1 s+05 s+15 s+1

i (1)=9(e"" +e™*" -2e")A (t=0)
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~N(s) b,s"+b,s"+...+Db,
D(s) as"+a s"t+..+a,
- H (S_Zl)(S_ZZ)"'(S_Zm-l)(s_zm)
(= P)(S—Py)-(S—Put)(S —P,)
Hom % #o Zyn Zov ooon 2" F %30 AN(S) = 089

e, RAMBHEELE . Pis Pos .oon PASHE
% M AD(S) = 0094k, ArA MWL HE a9 &

EE-FaREsFa, £ ‘O £7, RAE
ﬁ] “ ¢ /%Tﬁo

H(s)
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Py 2& R B A9 AR R AL B

H(S) =1 ) = >, h(t) = £3{H(s)} = 3 Ke"

p=a+jw, K ‘K‘eje

1.p, =0, B EAZT R &, Wh(t) =Kelt), AMEHKL
£ o

2.Re[p]=a <0, Imlp]=w, =0, M E{zT EFF
A b W h(t)=Ke™ I EZ R,
3.Re[p]=a >0, Imlp]=w, =0, R EAZTHFE
B b, Mh@t)=Ke™, #HEAFEEK
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4. Re[p]=a =0, Im[p]=w #0, M EZTE
# b, W h(t)=2|K|cos(wt+6), TFmM4 B EIk

5.Re[p]=a,<0, Im[p]=w, #0, HHHEAR &z T A
F-F@mfe e EE S, N h(t)=2|K|e™ cos(wt +6,)

MBI TR B HIKkG

6. Re[p]=a,>0, Im[p]=w, #0, HHHA E{LT4H
FP@mERE@ERH, W ht)=2K|e™ cos(wt+86)
P IEIEHIT KA B Ak T
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H(s)2H (jw)

jw=s
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1) %812

S B BT =3 1 B 2% 59 &M LR SR ) 4
1. 4y, = cS(t)lijL ERES ARV, = 5(’[) + (et -
4e 29¢g(t) Vo /T\év —3\/§cos(ft)v B8 B RV, o

w
2.2 4 Hjw) = o = — Kb B B
h(t)o Vi —W +15(JJ+6
1 4 O o
H(S):VO(S):1+S+1_S+2: SZ + N +
V(s) 1 s?+3s+2 Vi <_ Vo
W T —
H(iw) =H(s), o —w’ + 3w+ 2 ° —©
TN NV ~(\/2)? 2 B -
V, =H(jv/2)xV (2 + 3242 3=j2V vo—ZCos(\/§t+E)V
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H(jw) = =
(w) —wW’ +j5w+6 (jw)’+j5w+6

3 S 2 N 3
jw=s g 41ij5+6 S+2 s+3

H(s) =H(jw)|

h(t) = (-2 +3e")e(t)
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